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18U/119/25(Set-1)

MNo. of Questions : 180

weAl @ W - 180
Time : 2 Hours | [ Full Marks : 450
WHY ;2 U2 ] [ quifg: 450
[nstructions :
fadr :

This paper consists of Objective Type Questions and is divided into

Two Sections (I & II) as under :

uE qT-UE dgeedta weAl o) omenfi & den 3 @l (1 ud 1) # fae 2 o

5 o ot 2

(a) Section ~ 1 consists of 120 Objective Type Questions on General Awareness,
in some major subjects.

(ﬁ}w-lﬁuﬂﬁﬁ&quwamﬁwhﬁww,mwrﬁa
£

(b) Section - II consists of 30 Objective Type Questions on (I) English
Language and (I1) Hindi Language.

(@) @vs - 11 # 30 sgfwed ge (1) s o iR (1) =) wer & 54 W
smnRa 21

A candidate is required to attempt as many questions as he/she can of

Section — I, and Questions on ANY ONE of the TWO Language papers

(I) English OR (II) Hindi in Section ~ I,

anelt A o & 5 @ve - 1 oo s — 11 & (1) ssh @ () R W 57 @

yfrafe g B Ed BN

(3) PT.O
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NotelTIZ: (1) Altemp! as many questions as vou can. Each question carries 3 (Three)
marks. One mark will be deducted for eaclh incorrect answer, Zero mark

will be awarded for each unattempted question.
SfRIRE ol BT T B B U B UAS yeE 3 () am w §
FoIF Teldd GT% & [0 U 3@ @iy Oy veie et nee @ I
¥ B |

(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

e TS dafous TR TR IR @ e vdle 8 o Beeas w8 g

T |
SECTION - |
gurg ~ 1|

1. Landrace is breed of :

(1) Horse (2} Pig (31 Camel 4 Donkey

HreNd Y B

(1) =g & (2) TR W] (3) Fe = (1) e Y
2. [nthe liver alcohol 1s converted to

(1} Caffeine {2} Acetone (3) Acetaldehvde (4} All of these

a0 W fcdiEe ufkafod g €

(1) & # (2) THES # (3) thefeeems & (1) g9 9% #
3. Browning of cut fruits occurs due to the activity of enzyme :

(1} Peroxidase (2) Catalase

(3) Polyphenol oxidase (4) Alcohal dehydrogenase

B BY el T RO 5 oreH B e AR & @y g o

(1) wIwirew (2) HeTelH

(3) dieftmETe sifedies (4) fedEd Reaegifrm
4. Beer contains following percentage of alcohol :

(1) 5% {2) 20" (3) 25% (4) 0%

4R % arehlEd &1 e oiaeE e

(1) 5% (2) 20°% (3) 25% (4) 407,

(4)
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Red colour of tomato is due 1o -

(1} chlorophyll (2) xanthophylls
(3} lycopene (4) None of these
THIER @ oTel 7 B @

(1) TR & wEo (2) otenfee & FRm
(3) arEEH @ @ (4) 5 ¥ B E

Carrotisrichin:
(1) beta carotene (2} thiamine (3) vitamin D (4) vitamin E

MR A FER " H U T E

(1) dler SRET (2) TermE () fefm & @) Refi ¢
Spinach leaves are rich source of which of the following mineral ?

(1) Fe (2) Ca (3) K (4) Na
w1 Tl e 9 6 Wi @ ug @ 2 7

(1) A (2) T (3) uiefiray (4) wifeas
Following preservative is used in Jam preparation :

(1) Sodium benzoate (2) Sorbitol

(3) KCN (4) None of these

o ) dard # e aftvers g foha o €

(1) |fegw e (2) wifdera

(3) & ¥ TT (KCN) (4) 7 A B T

Pectin is having following chemical nature :

(1) monosaccharide {2) disaccharide

(3) polysaccharide (4) None of these

et % Py wrerafie TR B 2

(1) AHAEEES (2) TEEHUGE

B GIGERES] (4) 598 | B AL

(5) PTO.
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10. Golden rice variety is rich in:

(1) Vit. B-12 (2) Betacarotene  (3) Lysine (4) Arginine
Tegd wgd e & wER s 3 QI S &
(1) fefEm @12 (2) drer & (3) @ZaE (4) araAlEs
11. Cow milk is yellow in color due to the presence of :
(1} Riboflavin (2) Xanthophenol
{3} Beta carotene (4) None of these
T w gy A S e oufefd & e T R fren g g v
(1) g (2) i
(3) et adA (4) 39 @ @75 AR
12. Lactometer is used for detection of quality of :
(1} Milk (2) Water (3) Soup (4) Juice
Syeries & war B | fewe o @ ow @E @ o ey o v
() 5= (2) o (3) 3 (4) =

13. Fat content in cow milk is:

(1) 4-5% (2) 5-6% (3) 6-10% (1) MNone of these

TE g W AT BT A E E

(1) 4-5% (2) 5-6% (3) 6-10% (4) 398 | &g+t
14.  Paneer is obtained by :

(1) acid coagulation (2) focculation

(3) homogenization (4) hydrolysis

TR U e e g

(1) 3 ¥FHg= g7 (2) FOE B

(3) UHHUAl gl ' (4) T HTHEE ZT

15.  RTS beverage contains following TSS :

(1) 10% (2) 20% (3} 25% 4) 30%
IR TH G H o & e v e
(1) 10% (2) 20% (3) 25% (4) 30%

(8)
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Refractometer 18 used for analvsis of -

(1) TS5 (2) ash content

{3) moisture (4) fat

(1) & v\ & v gy (2) T @Y AT B e vy
(3) T & fvem gg (4) Ta1 § favermo &g
Kjeldahl apparatus is used for determination of :

(1) fat (2) protein (3) moisture (4) Ash
SreEre SUEol & WA fewe feiver &g fa o g ?

(1) @@ (2) "= (3) =4 - (4)
Citric acid is produced by :

(1) Aspergillus niger {2) Bacillus sp.

(3} Psendomonas (4) None of these

agfe® vfire 3= g &

(1) TARISerd AR G (2) dfrera wflo grer

(3) TSEART ENT (4) T @ @1g T8

Cheese is produced by

(1) Penicillium sp. (2) Bacillus sp.

(3) Lactobacillus (4) All of these

TR G BT 8 _

(1) gfEferma el g7 (2) #fgere wfto greT

(3) el g (4) 3% ° wh

Pizza contains following cheese :

(1) mozzarella cheese (2) ricotta cheese

(3) both (1) and {2} (4) None of these

formar ® foe oFR B €

(1) FroRer TN (2) Re&rr TR

(3) (1) W@ (2) = (4) ¥ | PIg Tel
Building block unit of DNA 1s:

(1) neucloside (2) ribose sugar

(3} neucleotides (4) purine and pyrimidine bases
& v v F Ao @ve @ s B

(1) gEFargs (2) Vg TR

(3) YfereEs (4) R7 T graRiEE aus

(7) P.T.O.
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22, Proteases are used for degradation of :

(1) Polypeptides (2) Fals (3} Carbohydrates (4) Nucleic acids
g & ITn fEwd (eteor gg e S g ?
(1) WereEss (2) @ (3) FEEEsey () T e

23. Cryopreservation is done at a lemperature of :
ey Heeor fam o &
(1) -14°C gz (2) -196°C U¥ (3) (°C W= (1) —2°C 53

24. Bacteriai growth occurs maximum at temperature of :

SAany gfy feas @ wr sftreaw g & °
(1) 20°C (2) 5°C (3) 100°C (4) 37°C

25. Which of the following contains highest amount of Vit. C ?

{1) Aamla (2) Carrol (3) Spinach (4} Ginger
fre 4 9 fpo waa afas 9 8 fAefe O s g ?
(1) affaen (2) Filue (3) dreid (4) e

26. Which of the following is a fermented product ?

(1) curd (2) vinegar (3} cheese (41 All of these

Fr=1 § 91 ®i9 frfYag sag & 2

(1) <dl (2) fesea (%) i 31 o
27.  Which of the following is Polyunsaturated Fatty Acid (PUFA)

(1) palmitic acid {2) bulyric acid

(3) arachidonic acid {4) MNone of these

ey # & wra-a aifer siga wn s (g & 7

(1) Uafafes s (2) @il ofirs

(3) UNTRTESIE Ufie (4) & U BIE T
28. Castor seed are rich in;

(1) Arachidonic acid (2} Oleie acid

(3) Linolic acd (4} Linolenic acid

IRUEt @ I W uER AT H U e 2

(1) wrsEe=® ar (2) afergm o

(3) feAifam () Fremifas sna

(8)
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Peplide bond is present in

(1) carbohydrate (2} fat (3) protein (4) None of these
Teigs dvs Hioje gl ®
(1) wEEEge 4 (2) T H (3) WEW # (4) =7 ¥ w5 A8

Acid value is used for determination of :

(1) Fatty aad (2} Protein (3) Enzyme (4) All of these
3 HF By fre d fhoe faiRor o fFar o g ?

(1) =i s & (2) WA & (3) TEA @ (4) 3w wh
Papain and bromelain are used in:

(1) beverage industry (2) milk industry

(3) meat induslry (4) bakery

qurge e aier @1 war fsar o E

(1) "o FEmT ¥ - (2) T SE A

() A e (4) g ¥

Spirullina used in astronaut food is :

(1) bacteria (2) biue green algae (3) fungus (4) virus
ajdfer At @ WioE o TR Wigwer ©

(1) <harg (2) e eRa dad (3) b (4) fawmy
Simplest amino acid is :

(1) lysine (2) glycine (3) alanine (4) wvaline
FRaay ufEEr e €

(1) age (2) TR (3) TarA (4) i
Eather of Green revolution in India is :

(1) M.S.Swaminathan (2} R. Kurien

(3) Bernard (4) A.N.Chakraborty

(1) THo THo FETA=IIT (2) aMRo &Y

{3} Tae (1) To Tso R

(9) G
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35.

36.

37.

38.

39.

40.

41.

Egy volk is yellow in colour due o :

(1) albumin (2) ovaalbumin

(3) y-globin

yrdEE A @ N T H 9o 8§

(1) s/gfim & (2) AarergiiE @

Lactose is made up of -

(1} glucose and glucose

(3) glucose and galactose
GEEERCECIE

(1) 7@ TS D |

(3) TE@IE U9 Teaes W

Salt in a solution is called :

{1} Brine (2) Syrup
faera= o 79 @1 T o &
(1) argd (2) fezy

What is'I55of Jam ?

i T Ay E 7

(1) 60 (2) 685
Cidler vinegar is made from :
(1) Apple {2) Banana

Hrzey favat gqar &

(1) 9 ¥ (2) ®em |

(3} Ty &

(4) m _\'uglnhm

(1) mEFetaA &

(2) glucose and [ructose

(4) glucose and sucrose

(2) eI AUl e o

(4) e[rel UF Fhla A

(3} Gem

) o

(3) 75

(3) Grapes

(3) SR U

The major locomotor structure in bacteria are :

{1} Flagella (2) Pili

S H Hergyel gere arell e §

(1) weiarst (2) fosh

Fruit juice is spoiled by
(1) Yeast and moulds

(3) Enterobacleria

B &1 GH T B W 8
(1) dre qur Wieegd @

(3) sedaacfar @

(3) Fimbriac

(3) fmars

{2y Clostridia

{4) Enterococc

(2) Fafefea @

(1) FETRIS &

(4] None of these

(4) 39 | ®1d

(4) @0

(4] Pineapple
(4) T o
(4} Cilia

(4) THeran
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Which of the following microorganisms is used in beer making ?

{1} Yeast (2) Bacteria (3) Mold (4} Virus
et # W B e oA SRR & g § g i e & 2

(1) fwe (2) i (3) Hrcs COREL L
Lactose 1s

(1) Monosaccharide {2) Disaccharide

(3) Oligosaccharide (4) Polysaccharide

HaEr

(1) "FdaES (2) eEUEES

(3) shferdiaTEe (4) dielrfevze

Which vitamin is absent in egg ?

(1) Vitamin A (2} Vitamin C (3) Vitamin D (4) Vitamin K
oo ¥ @ia—ar fefi & gwr g ?

(1) faerfim g @ fRefm<d (3 fafE (4) faefaq @

Agaris:
(1) Polypeptide  (2) Polysaccharide (3) Polyphenol ~ (4) Poplyflavone
TR #

(1) Gerergs (2) diefdmess (3) UielwATe (4) diueirrerer
Colorant used in butter is :

(1} Annato (2) Erythrosine

(3} Congo red (4) None of the above
Hog- H gy e B

(1) =& (2) IR

(3) FM TS (4) ST B
Which of the following is not found in all bacterial cells 7

(1) Cell membrane (2} A nucleoid

(3) Ribosomes (4) Capsule

B # 9y FrA—w T ey @R ¥§ Fet qm W §

(1) Pt et (2) wfemsiEe

(3) vrgaTAAH (4) HTEF

(11) P.T.O.
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48.

49.

50.

5t

32,

53.

Cereals are deficient in

(1) Methionine (2} Phenvlalanine (3) Valine (4) Tysine
ST H el 9T W &
(1) fAfErmmrg (2) BRatent (3 JeTEn (4) g

Which vitamin is known as "Sunshine Vitamin' ?

(1} Vitamin A (2) Vitamin C (3} Vitamin D (1) Vitamin E
fbw faetfrs &1 s Qe & w7 9 S o & 7

(1) faerfd ¢ (2) faeifd= <f (3) Feifya @ (4) Teifae ¢

BMI stands for

(1) Basal Metabolic Index (2) Body Mass Index
(3) High Content of Citric Acid (4) High Content of Antinutritional
Factor

AIVHATE T s B

(1) ST Sadad Yass ) R GEE v
(3) wsfew fre %1 sfe my) (4) E IR Fve B sl o

In human mouth pH is :
A9 ® HE @ pH 8lar 2
(1) 3.5 (2) 3.6 (3) 7.1 4) v4

Benzoates can be used for the preservation of :

(1) Bread (2) Jam (3) Meal () Egg
ISV BT AT e F R ket 3 R enen @ 2
(1) ¥ (2) ¥ (3) w1 (4) 3w

What is the strength of the brine soiution for the canning of vegetables ?
afert & Reamd) 8g eavi-aa Rome o) e aw & o
(1) 2% (2) 8% (3) 15% (1) 679,

(12)



54.

95,

56.

bl

28,

59.

18U/119/25(Set-1)

National Dairy Development Board (NDDB) was created in :

(1) 1965 (2) 1966

(3) 1967 () 1968

e Sl SgeEe a8 (TodloBlodl) AT T

(1) 1965 # (2) 1966 4

(3) 1967 H (4) 1968 A

Noodles originated in :

(1} China (2} Japan (3) Korea (4) Taiwan
Tod 1 IR g=

(1) @ # (2) W9 (3) iy # (4) TrEar i
What acts as the preservatives in mango pickle ?

(1) Salt (2) Mango (3) Oil (4) Sodium benzoate
AW @ aEr § e A F B ofielt & v e dwar & 7

(1) =qor (2) &4 (3} da (4) Wrfgmm dume
Guava is rich in :

(1) Vitamin A (2) VitaminC

(3) Vitamin K (4) Vitamin B

s W wee A A O 9l €

(1) faerfE g (2) R @ @

(3) faeifda & @ (4) fetd= & @

Myoglobin is :

(1) Protein (2) Lipid (3) Carbohydrate (1) Vitamin
gy &

(1) WM (2) forfts (3) PHEEEET (4) fae@e
Saffron is obtained from :

(1) Seed (2) Root (3) Fruit (4) Flower
T Ui BT &

(1) &= 4 (2) 98 | (3) Wl «l (4) A A

(13) P.T.0.
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60.

61.

62,

63.

64.

65.

66.

The oxidation number of iron in the compound K [Fe(CN), ] is :
qiFreR K [Fe(CN),] ¥ stiaw= &1 itedienye ¥ &
(1) +6 (2) +4 (3) +3 (4) +2

The percentage of nilrogen in urea is about :
aRaT # AT @1 uiea T #
(1) 38.4% (2) d6.6% (3} 59.1% (4} 61.3%

The number of neutrons in the nucleus of tritium is :

i & S A Pt A < &

(1) 1 (2) 2 (3) 3 (4) 4
Which of the following metals form amphoteric oxide ?

(1) Fe (2) Cu (3) Zn (4) Ca
frer 4 91 @3 arg ooreRe affeaee g @ 2

(1) amae (2) PR (3) f® (4) Dfewm

The setling of plaster of paris takes place with :

(1) Lossof CO, {2) Hydrolysis (3) Hydration (4} Dehvdration

e M Ui @ venue 2T €

(1) FETegaiaaEs & 2y & iy (2) TS I9TEA B 1y
(3) TTUTE & |y (4) Foela=y & o

Isotopes of an element have different number of :

(1} Electrons (2) Protons

(3) Neutrons (4} Protons and Electrons

oo @ wEeTE &) R e B &

(1) gciaeta = (2) wrets @

(3) =T & (4) WEH Td geEt 7
Fadioactive substance do not emil

(1) Electron (2) Helium nucleus (3) Positron (4) Proton
SR qarel oAt 8 dve @

(1) soai (2) Efcrm =fds (3) giftret (4) wrEH

(14)
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l[aundice is disease caused by :

(1} Bacterium {2) Virus (3) Protozoa (4) Fungus
W uw wivg W g

(1) <fam gr (2) fawmy g (3) WIEIRT gRT (4) ®9® 5

Goitre is caused due to deficiency of

(1) Iron (2) lodine (3) Calcium (4) Folic acid
e ) B RO B E | ;

(1) 9=a 5 (2) STATEE @ (3) fowms & (4) wifere o @
Diabetes mellitus is caused by

(1) bacteria (2) fungus

(3) hypo secretion of insulin (4) hypo secretion of glucagon

s Aferca @A B 8

(1) W] BRI (2) ®wadH 57

(3) S & A SO gRI (4) TSN & WA oA gRI

Food poisoning is caused by :

(1) Entamocbacoli (2} Salmonella (3} Giardin (4) Shigella
Ao Ruregeer BT Bl 8

(1) ealar @ielt  (2) wrerHer (3) FramefZyr (1) Prer

Diseases caused by eating contaminated food is known as :

(1) Brights discase (2) Osteoporosis

(3} Minamata disease (4) None of these
;@fﬁﬂﬁaﬁmﬁm#ﬂﬁlﬁfmﬂm#mfmé:
{1}Errgszﬁmﬁ (2) ey & &0 4

(3) fommareT 99 & w0 H (4) = & dE AL

ELISA test can't be used for detection of the following

(1) Mycotoxins (2) Molds (3) Virion {4) Prion
q%muﬁmﬁﬁmﬁﬁﬁﬂqumﬁzﬁ%q gurT F&@ faran A @ ¢
() mgpEifes  (2) WS (3) fafaf (1) fordm=

(15) P.T.O.
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73.

74.

75.

76.

77.

Intermediate moisture foods contains moisture level of

(1) 0-15% by weight (2) 20-50% by weight
{1y 40-60% by weight (4) 15-30% by weight
eI 4TS W A aaal @ W Bl 8

(1) ¥R @ 0-15% (2) Wi T 20-50%
(3) ¥R i 604 (4) ¥R @1 15-30%

The potatoes becomes yellow when cooked in alkaline water due Lo presence

of :

(1) Ant}rucyamin {2) Polyphenols  (3) Tannins (4) Flavenoids
3Te] 79 &R ol § UHTAT O § A1 el & ST

(1) e & aRY (2} diehdsifa @ HET

(3) EFF & @I (1) FEETIRTE B BN

A metastatic cancerous tissue is termed "sarcoma’ if the disorder is in -

{1} Fibroblasts (2) Epithelial cells

(3) Immune system {(4) Circulalory system
Wewefed By GdE T FIEMT wmE Wl 8 afd < e g
(1) FEFRE 7 (2) udeieraa s &
(3) wferes womet # (4) ufdaRur gomel #

A health disorder that results from the deficiency of thyroxine in adults and
characterized by (i) a low metabolic rate, (i) increase in body weight and (i}
tendency to retain water in tissues is

(1) Cretinism (2) Hypothyroidism (3) Simple goilre  (4) Myxoedema
wWRey fer o gows # unedifia @ &0 9 e 8 aw (i) B auman o
(i) TR @ o # gfy wun (i) Saet A ofd WG &R @ iy o) S
wal Wil &

(1) sfefo (2) TETEERIESE  (3) AW e (4) Tirfandfemn

Carcinoma refers to:

(1) Malignant tumours of the skin or mucous membrane
(2} Benign tumours of the connective tissue

(3} Malignant tumours of the colon

(4) Malignant tumours of the connective tissue

(16)
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BRI T e
(1) o0 M et fiyee a1 arra ogmw
(2) wIel Faw @1 garn T
(3) e BT IRY cgHY
(4) DU ST 9 sy

Common cold is not cured by antibiotics because it is :

(1) Caused by a Gram-negative bacterium

(2) Not an infectious disease

(3) Caused by a virus

(4) Caused by a Gram-positive baclerium

HIA & BT gors SRRt gwT A€ g ® i 1w
(1) am-fFrifeg diar g e 2

(2) HHHEG T TE

(3) fammp gy e &

(4) Tm-uifsred Sfarr grr e @

Alzheimer discase in human is associated with the deficiency of
(1) Gamma aminobutyric acid (GABA)

(2) Dopamine

(3) Glutamic acid

(4) Acetylcholine

qrat 4 srowTgER T T 9 dag @

(1) 77 wAEafeRe ofits ()

(2) SmEIEA

(3) *eiH® URTs

(4) THEEAHEN

Suspension of atlenuated pathogen that stimulates antibody formation is :
{1} Antitoxin (2} Vaccine (3) Antibiotic (4) Serum

G P e BT Frerea S IRl FEia @ ST Fear &

(1) tCreif= & (2) do04 © (3) T=ErEfes & (4) @Rm 2
Which of the following disease is caused by virus and transmitted by
mosquito ?

(1) Plague (2) Typhus (3} Yellow fever  (4) Filariasis
=1 4 @ s I R g g 2 den 9w g aeia g @ 0
(1) e (2) ErRwy (3) gt ww (4) WIS

(17) P.T.O
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82.

83,

84.

83.

86.

87.

Use of anti-histamines and steroids give a quick relief from :

(1) Headache (2) Allergy

(3) Nausea (4) Cough

U -fRemsT qu7 Wy § w4 i wed e ¢

(1) fheed 9 (2) veldi 8

(3) Much 9 (1 Wil 4

Which of the following diseases is due Lo an allergic reaction ?

(1) Enteric [ever

{2) Hay fever

3) Skin cancer (4y Cantre
x

97 ® ¥ BIF-A1 I TE AT & HRU EE @ 7

(1) 3= w9

(2) TRITH wER

(4) =er

(3) AT B

Which of the following is a pair of viral discascs ?

(1} Typhoid, Tuberculosis
(3) Common Cold, AIDS

= 37 9 @i Aoy S @1 g & °

(1) ezwizge, dufs
(3) A HH, e

{2) Riﬁgworm, AlDS
(4) Dysentery, Common Cold

(2) =I5, UsH
(4) ufaw, awFT gFm

Norman Borlaug the Father of Green Revolution” has developed a highly
recognized and appreciated cultivating variety of : -

(1) Wheat (2) Rice

(3} Onion (4) Sugarcane

B il & we AW aRam F SRd AR ad EEAT Al 8 gty @

(1) & 3 (2) =Taa @)

Selection of homozygous plant is :
(1) Mixed selection

(3) Pure line selection

(1) f&fra gu=

(3) g TUPBH T

(3) = i (d) T )

(2) Mass selection
(4} None of these

(2) = T
(4) 379 ¥ D13 =

An organism use as biofertilizer for raising soyabean crop is :

(1) Nostoc
(3) Azospirillum

(2) Azotobacter

(4} Rhizobium

G wee B ge @ B olg e F Y gyaw o @

(1) ATHZIF

(3) TwrERfey

(2) UuTEREEY
(4) s
(18]
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89.

90.

91.
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In tissue culture medium, the embryoids formed from pollen grains is due to :

(1) Double fertilization (2) Organogenesis

(3) Cellular totipotency (4) Test tube culture
Sah WA 7 d, WA B9 9 g9 gt B

(1) g&x fAyes & s (2) FTRE & HwU
(3) Fg qofeTRTT & BV (4) T T wAT B BRI
Haploid plantlets can be produced by :

(1) Embryo culture (2) Pollen culture

(3) Cotyledon culture : (4) Meristem culture
A wicee $ s far @ wear §

(1) YT Wl gr (2) WU WA gRI

(3) draTa Hael| g (4) fowrsdige dadq g
Somaclones are obtained by :

(1) Genetic engineering (2) Tissue culture

(3) Plant breeding (4) Irradiation
HIATFATT T fehar el € ,

(1) sgaifdrg s gw (2) Sud HaEH R
(3) °TEY T NI (4) fafezor gwr

"Jaya" and "Ratna” developed for green revolution in India are the varieties of :

(1) Bajra (2) Maize (3) Rice (4) Wheat
4T ¥ #Ra #ifd &g [ele oo g o e E
(1) e @ (2) 7I@1 B (3) ar W (4) TE B

The capacity to generate a whole plant from any cell/explants is called :
(1) Pluripotency (2} Cellcloning  (3) Tissue culture (4) Totipotency
(1) dgzraal (2) UE FEIT (3) THdd HaA (4) goTerERTE

(19) P.T.O.
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93. The first clinical gene therapy was given for treating :

(1) Rheumatoid arthritis (2) Chicken pox

(3} Diabetes mellitus (4) Adenosine deaminase deficiency
el Faifre ofE AN s gore @ fam ol ?

(1) wfean Srar <t (2) B AR

(3) HE feEw (4) wemTET ST =g

94. Crv ! endotoxins obtained from Bacillus thuringiensis are effective against :

(1} Flies (2) Mosquitoes
(3) Boll worms (4) Nematodes
e GRS @ Wi 78 1 Tereifdas dReN ¥

(1) 7 & Aoz (2) Fom @ fdwg
(3) TEE A b g (1) =R & vy

95. The catalvtic efficiency of lwo different enzymes can be compared by the

(1) Molecular size of the enzyme (2) The pH optimum value
(3} The Km value (4) Formation of the product
g1 for=1 f=1 Uogw @ SdNG SeTdT @) gee @ o W) 8

(1) THAISH @ 0fad SR g (2) dug gwedy 99 g

(3) ®UH A G (4) I & i gw

96. Example of a typical homopolysaccharide is :

(1} Insulin (2) Suberin (3) Lignin (4) Starch

Tl EMTTA@YES @ IEE 8

(1) zegfer (2) wafs (3) ferlfie (4) =T
97. Cell division cannot be stopped in which phase of the cell cyele ?

(1) Gi-phase {2) Go-phase |

(3) S-phase (4) Prophase

PIET 4 T By T 4 et emow 1 Jur 798 wwa £ 7

(1) &-axm (2) wi-Ey

(3) TE-ERm (4) W

(20)
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If you are provided with root-tips of onion in your class and are asked (o count
the chromosomes which of the following stages can you most conveniently
look into ?

(1) Prophase (2) Anaphase (3) Telophase {4) Melaphase
HID] U BE H W B A BT T AT W T ¥ g mEEm g o
T @ U wer Sion @ e F e g 9 Site sy sl F ARM W T wow
e

(1) wrw (2) TATH (3) T (4) AerHw
Cells in Go phase of cell cycle :

(1) Exit cell cycle (2) Enter cell cycle

(3) Suspend cell cycle (4) Terminate cell cycle
BIEE FF & Gy a0 F BT

(1) e effier uF g (2) v w3 o &

(3) Fraffag s @ 2 (4) TET PIET TH 2

The first enzyme to be purified and crystallized was :

(1) Urease (2) Diastase (3) Insulin (4) Zymase
gEel Uorgd oW g aur el fear v o

(1) gRww (2) sEReH (3) Tgferd (4) g

Select the related word/letters/number from the given alternatives :
Mughals : History : Rivers : ?

(1) Geography (2) Physics (3) Psychology (4) Biology
fad 13 fawed] & wafdd weg / 3R /e w1 e @i '
T ¢ ghErs o Afewr 7

(1) e (2) TfE fem (3) s 4) T fagm

Select the related word/letters/number from the given alternatives :
ADH:ILP::G/N:?

(1) OVR (2) ORV (3) PVR (4) PWR
fea M el @ waly wreg /el / Ten & = @
ADH:ILP::GJN :?

(1 OVR (2} ORV (3) PVR (4 PWR

(21) PT.0.
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103.

104.

105.

106.

107.

108.

Select the related word/letters/number from the given alternatives
WD:TF:: TG:?

(i) QR (2) QI (3) 1Q (4 0
By 1 fAwedl ¥ GART ¥ / 3N/ W @1 9ae 1o

WD :TF:: TG ?

(1) QR (2) QI 3} 1Q (4) 1P

Select the related word/letters /number from the given alternatives :

Q.27 :.:64:7

(1} 225 (2) 216 (3) 512 (4) 324
oy fmodl @ dERT e/ WeR /W@ F F9IT BT

O v bl ?

(1) 225 (2) 216 (3) 512 (4 34

Select the odd word/letters/number /number pair trom the given alternatives:

(1) Igloo (2} Den (3) Stables {4) Rock

R M Rreent & fey ved / SR/ W8 /WE g Bl g S

(1) ¥ (2) =7 (3) A (4) TF

Gelect the odd word/letters /number /number pair from the given alternatives :
(1) CUD (2) SIP (3) SET (4) NTR

R ) famed] | Rww wes / 36Rl /A / W I @1 T @

(1) CUD (2) SIP (3) SET (4) NTR

Select the odd word /letters/number / number pair from the given alternatives :

(1) 132 (2) 145 (3) 187 4 14
fror 18 el @ Rww o= / el /W /6 P H Trm wfag
(1) 132 (2) 145 (3) 187 (4) 144

Select the odd word/letters/ number/number pair from the given alternatives

(1) 361 (2) 289 (3) 22 (4) 216
i T Rrewd § fum vy /el /wEn /W@ g @l mad el
(1) 361 (2) 289 (3) 225 (4) 216

(22)
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A series 15 given with one term missing. Select the correct alternative from the
siven ones that will complete the series :

Ace, King, Queen, ?

(1) Jack (2) Club (3) Heart (4) Diamond

T S @ OR g e @ Wy R o 2 R w9 e @1 mm difeg
AT ot B qRT AN

gerhl, ATEEE, AT 7
(1) e (2) = {3) um (4) g2

A series is given with one term missing. Select the correct alternative from the
given ones that will complete the series :

BB, DZ, GW, KS, ?

(1 IK (2) IG (3) PN (4 PS

vd ot @ U gE e @ uy B o g Ry R 9 Ree @ gas 4t
W Aft @ IR AR

BB. D7, GW, KS, 2
() 1K i B L (3) PN (4) PS

A series 1s given with one term missing. Select the correct alternative from the
given ones that will complete the series :

HI, MN, RS, ?

(1) XY (2) WX (3) WY (4) WE

F Aol B e a9 v @ ey fam o 2 Ry M W fQwes @1 wam wit
S A BT g B

HI, MN, RS, ?

(1) XY (2) WX (3) WY (4) WE

When a number is increased by 24, it becomes 110% of itself. What is the
number ?

e U @ F 24 QI WAl 8, I8 e Al 110% 8 AR s a2 7
(1) 288 (2) 360 (3) 216 (4) 240

Reduce 3596/4292 to lowest terms :
3596/4292 B AETR UE TF &l @y
1y 29/37 (2) 17/43 (3) 31/37 (4) 19/23

(23) P.T.O.
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114.

115.

116.

117.

118.

A dooes 60% of a work in 15 days. He then calls B, and they logether finish the
remaining work in 5 davs, How -h;:n;:} B alone would take to do the whole work
(1) 25 davs (2p 20 days (3) 80 davs (4] 24 davs

w @ T 15 [ 8§ wean }| TG ATE A W B genol B SR A A Gan
q1dr B F 5 AT N @ B § | e W W g ww w O e @ R
7

(1) 25fem 2y 20w (3) 80 (1) 24f=

If cot 60° + cosec 60° = x, then the value of x is :
2 cot 60° + cosec 60° = x, AT X F FF F

(1) (1-2923/N2 (@) (V3-4/293  (3) 1 @ v3

Two cars travel from city A to aty Bata speed of 42 and 60 km/hr respectively.
If one car takes 2 hours lesser time than the other car for the journey, then the
distance between city A and citv Bis:

(1) 33 km (2) 280 km (3) 42(} km (4 221 km

71 @ HE 42 Fu7 60 e SHer 3 Y A WEY B W wEY W U AR Fedt 2
A TF HR T B S0 I B UL 2 Hel B W ol € A wE & o7 vew
o & dg o gl ¥

(1) 336 {4 (2 280 farst (3) 420 fn (4) 224 [

A cone of radius 7 em and height 12 cm is completely filled with water, This
water is emptied into an empty cvlindrical vessel of radius 3.5 cm, What will be
the height of water in this vessel ?

(1) leem (2) 3Zcm (3) 5.33 cm (4] Scem

Brom 7 ol denr SEnE 12 Ol aten U o o 8 Qo we oAl 8 g9 O
Proor 3.5 0 & Qo deFaR a0 A @it B Ru Fm@ ¥ gy gd9 § o O
Sarg @ g ?

(1) 16 797 (2) 32 90 (3) 5.33 9 (1) 8§99

What is the length of the side of an equilateral triangle, if its area i 64303 sqem ?

(1) 8em {2) 16 cm

(3) 16v3 cm (4) 843 em

TS WA B & 9o @ J @ @ 8, Al 3UET S9wa eI T il 8 7
(1) 8o (2) 164H

(3) 16v3 a5 (4) 8V 3w

(24)
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119, A vendor buys pens at the rate of 4 for Rs. 5 and sells at the rate of 4 for Re. 3.
What will be the resuit ?

(1) 40 percent gain (2) 66.6 percent loss

3) 6666 percent gain {(4) 40 percent loss

IF BT Bo 59 4 & R R B @hEw B WA vo 3 F 4 ev § F9m B
TR @I gE 7

(1) 40 widwe o (2) 66.6 wirera @i

(3) bh.66 HfeTer am (4) 40 wicrerg sify

120. Simple interest on a certain sum of money for 3 years at 18% per annum is half
the compound interest on Rs. 9000 for 2 years at 10% per annum. The sum
placed on simple interest is :

(1) Rs. 3500 (2) Rs.875
{3) Rs. 1750 (4) Rs. 1400
18% 9fd 29 X 3 98 & o fha oF & Ffdvm ol w wwn = 100 o
o 0¥ 2 9§ & oIy %o 9000 W Umgiy oA F AR ¥ | ARRY s v el 7S

gty 2
(1) ®o 3500 (2) o RB7S
i3) %o 1750 (4) o 1400
SECTION ~ I
Equg — ||

Language : English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answer to each question, Give the correct
choice as an answer.

Direction (Question No. 121 to 124) : Select the word nearest in meaning to the given
word

121, Ambiguity
(1} godliness (2} doubt (3) clarity (4) wickedness

122. [Moneer

(1} successor (2) foreigner {3) associate (4) forerunner

{25) F.T.O.
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123. Compassionate
(1) kind (2) reluctant (3) submissive (1) fortunate

124, Malign
(1) praise (2} execute (3) defame {(4) resist
Direction (Question No. 125 to 128) : Choose the word opposite in meaning to the

given word ;

125, Marvellous

(1) common {21 delicate (3) harmful (4) amasing

126, Enigmatic
(1) delightful (2) gigantic {3} plain (4) zealous

127, Remunerate

(1} refresh {2) penalize (3) activate (4) bribe

128. Venom
(1) malice (2) result (3) risk (1) cure

Direction (Question No. 129 to 132) : Select the word which can be substituted with

the given group of words

129. A person belween 80 and 89 years of age :
(1) centenarian (2) octogenarian

(3) septuagenarian (4} cenlurion

130. A remedy for all diseases :

{1) utopia (2) agoraphobia (3) urticaria (4) panacea

131.  An eater of flesh :

(1) herbivore (2) carnivore {3) omnivore () mammal

132. A post for which no salary is paid :
{1} honorary (2) lucrative (3) substantial (4) adhoc

(26)
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Direction (Question No. 133 to 136) : Choose the misspelled word from each group
given below

133. (1) bankrupcy {2) benign (3} benevolent (4) bewitching
134. (1) rogue (2) robust (3) rotine (4} reign

135. (1} unequal (2) inequal (3) inequality (4) unequally
136. (1) incomplete (2} incompetence (3) uncomplete (4) incompatible

Direction (Question No. 137 to 140) : Fill in the blanks with the correct word

137. Hisartof .............. is remarkable.

(1) exposure (2) exponent (3) expiration (4) exposition
138. Hesat.............. me.

(1) beguile (2) beside (3) besides (4) benign
139. Heknowsthe.............. of taxation.

(1) canons (2) cannons (3) campus (4) campaign

140. Hewasreleasedon...............
(1) bale {2) ball (3) bell (4) bail
Direction (Question No. 141 to 143) : Fill in the blanks with the correct preposition ;

141. Heagreed .............. my proposal.

i1y with (2} to (3) at 4) on
142. He delivered the letter ............... hand.

(1) with (2) by (3) from (4) in
143. He hankers ............... money.

(1) with (2) after {3) behind (4) at

Direction (Question No. 144 to 146) : Select the part of speech of the word
‘underlined) in the given sentence :

144.  The train was running very fast.

i1 noun (2) pronoun (3) adjective (4) adverb

(27) PTO.
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145. Heis very friendly with me.
(1) noun (2) verb (3} adijective (4) adverb

146. There is clarity in his speech.
{1) noun (2) wverb (3) adjective (4) adverb

Direction (Question No. 147 to 150) ; Fill in the blanks with the correct option::

147. Ram and Sita suffered alot, .............. 7
(1) did they (23 asn'tit (3) wasn'tit (4) didn't thev

148. Hesuggestedme ..............

(1} toopen an account (2) that I should open an account
(3) why I didn't open an account (4) opening a bank account
149. Baconandeggs.............. a good breakfast.
(1) make {2) have made (3) makes {(4) are made
150. Either your studies or vour health .............. in danger.
(1) are {2} 18 {3) have been (4) were

SECTION - I
qug - ||
a7 - fRe
(fat @ arel faenffa) & ferg)
Arder  Fyefafaa et 8 (1) () (3) 921 (@) wAlE @ FR-FR dwnfors o g oay #
il @ B8 Te 6 TR | 9U W IR @l g

151, @< 9 o g @ i oy o & 2
(1) = faf (2) e
3y ww faf (1) areh feifd

152, =red d fFd @ - el aredl widl 2 ?
(1) s (2) Wy (3) aard) (1) Afire

153. f2d feaw w9 w9 omar 2 7
(1) 14 eiTe (2) 143 (3) 14 feas (4) 14 sEER

(28)
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155.

156.

137,

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

s 00 @ o o) A aRe v & 2

(1) < (2) <R (3) wdrex
e 4 & S o wg o aren & 2

(1) 3% (2) s (3) I
IF WA A e BT gae aifor

(1) wafa (2) Jygfy (3) Wy
HgE' ¥ieg BT e Ay Tafig Sifse

(1) w1 + AF (2) Y3 + @ (3) +t + T=
TAF wWem B W Al @ 8 2

(1) 5 + 2% (2) 91T + =F (3) fd + g
feet &1 ‘o suw b ard &Y arfirefe oear & 2
(1) 3% 2) T (3) UF &7
e i 9 fe s o ol 98 @ 2 2

(1) wer (2) FER (3) wEw
frmfefan # < fo e & vy oo gan & 7

(1) |r™ (2) 7= (3) AT
HATIET A H B0 GHN YT § 7

(1) srerdmimg (2) acqey (3) wgaie
T WeE ¥ BIF-H GHR T § 7

(1) Tged (2) srerfumE (3} wHuTY
NE B E TOEH Tes a7 ¥ 7

(1) e (2) g (3) g
TR ®1 TG ToFd g BT

(1) aroe (2) FreTor (3) Ty
IS A FIA-E HAE 7

(1) fa1q (2) Tegey (3) Fgdife

WEh B W GOM — APl B we w7 wafya A

(1) 3 & ST (2) 7T 91 (3) 3@ 9o
=W H AU d g & g STl @ e o Ay & 2
(1) e (2) i (3) wrE

(29)
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(4) vdrg

(4) 3nAwy

(4)

(4) 9g + TF
(4) Hifg - z&
(4) AR

(4) ¥ER

(4) SR

(4) f

(4) &8

(4) T
(4) ToTRRE
(4) FHIRY
(4) B8 HTT

(4) e

P.T.O.
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168.

170.

17,

d

173

174.

175.

176.

177.

178.

179.

180.

; ; Ao R |
a7 TE 3 Tae el W @ § e ud # — uftd 4 BF-dl AeddN b
(1) =7 (2} 391E (3) JuAT (4) TH®

eI Ty gedRTe wE @ vl wF € 7

(1) Temal (2) g (3) degve (1) faam®
Ao fead g 8 7

(1) TerdrErd (2) W& (3) W (4) ®dl¥ET
R AT W aTeT 2R — g @ U Ud T des gae SR
(1) *men (2) T (3) 3 (4) w=
faey 1 | BT e IHTE BT qAEERE 4L 2 7

(1) T 2) @ (3) T (1) TH
foreea @1 wel faam Tata Sy

(1) s (2) FTaw 3) Fufifs (4) @
qG @ Wl fadm @ g v

(1) &d (2) =I¥d (3) T (4) FHe
B P AR FE T drgEr- ey @ fow ue ad veE w=m g v

(1) Fepdvr (2) FATEHHTT (3) e (4) @Terdm
SiE & U RS - e @1 wE e @ g ?

(1) 3 B (2) dgoord BT (3) F&T B (4) dz &
frg & 91 - e Efe 2 ?

(1) =& (2) = (3) faar (4} 9Rwg
A Tes W g9 arer ve e gafta @i

(1) wEan (2) Arad (3) Hw (4) HHATET
wAgS @ u4 We — fE B @ = g v

(1) qfewEmn (2) gfie

(3) e s (4) FIEIR T HRIH!

(30)
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apgfafat @ fog Fee

.4 - T T LB E ,:" - -J-‘rf.'—_-—-'“
(21 R B U ALY T Gl SolFHodRe FuhdA b ) gl e el el

arA-wree U W8 o)
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F e FY T | e aTaead & 98t WeA-gRaET BT G qAT we @ T fd wr
7 fod )
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qy-qRaH! T SEEE TE i 3o Tho QTR0 Jeie-UF G ] LEredl A guiemEs W
sl T 2

s gt § @rd ) oRadd se FlEE g g g1 W AT AR U Ao
e T WA AT ST '

ge-aftasl | uedd W @ i sfers omR f2 ud E | wede we & deloys 9w @ R
T OMR G705 31 g e @ e R 74 g ®F ST & e e W R
Rl & I ATE-EIge 4 {1 Ml G

G U @ SR B ) dud Ud g gu B Ml ) W 4 WG JhAT &1 e &3 w
Hod UF G 61 AYYT AT U 4E TR T A AT

i & 5 U qr wigt T Sida g% dgon qel o ! grafe sy B gw #1oF
T8 e e £ o weatyg ofl & oamd frl i wh ol el didl s 7 TF g ow g
e 3 @

s owid ¢ o 3@ ReE F OqEUR $ R der R A afts wrell ow &
T @

e # IuRr sl alfo THo aMRo WEN-UEG UOe ®er/Waw o fles @ s Wi
3| wafs gRial B TeE-gRa® ik sl THo &Ko TTR-G® H HTH T W F AN
w1 SrAf

appefl @ ORew T @9 W Twel GhEn wad 3 Ay W # sila el e
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gl e R el



